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¢(QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(X) =—4sen (x + 60°) ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(Xx) = 3senx ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x)=2+tanx ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x)= 4senzx ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x)=—tanx ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(X) =3—2coszx ?
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¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x)=8cos2x + 3 2

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

¢(QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x)= 3sen (2x+w/4) -2 2

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) =5cos (x—40°) +4 2

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x)= tan3x+2 2
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¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = tan (-x) —2 ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = 7 sen (—x) ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = 5cos (50° —x) 2

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x):BSen[aX+ﬂ

(QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = 5sen (50°—x) 2

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = 5+ tan (mx/3) ?
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¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = -2cos 3x ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(X) = sen4dx 2

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = 5tan (—x) ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = sen (-3x) 2

(QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(X)= sen(’zI ’;Xj ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(X)= COSG ’;Xj ?
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¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) =4 cos (bx) + 3 2

(QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) =7 —5 sen (6x) ?

¢QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) = tan (4x + 60°) ?

(QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(x) =6 cos (x + 30°) 2

(QUIEN TIENE LA GRAFICA DE
LA FUNCION:

F(X) = 6 — 3cos (2x + 90°) ?




